

SOLUTIONS

www.udgamwelfarefoundation.com

**For Best Mathematics E-Books, Visit:
www.mathstudy.in**

www.udgamwelfarefoundation.com

MASTER MATH FASTER & SMARTER!

Your Ultimate Digital Math Companion for Every Exam & Every Dream

✓ CBSE • ICSE • ISC • JEE • SAT • CAT • CTET • CUET & More!

Why Choose MathStudy.in?



Latest Pattern E-Books



Complete Chapter PDFs



Competitive Edge Gunkes



Case Study Based Learning

**Instant Access,
Anytime**

**Unbelievably
Affordable!**

For Students:

Special Features

- ◆ ****Board-Specific**** – CBSE, ICSE, ISC, State Boards
- ◆ ****Exam-Focused**** – JEE, SAT, CAT, CTET, CUET, NTSE
- ◆ ****Grade-Wise**** – Class 6 to 12
- ◆ ****Bilingual Options**** – English & Hindi Medium Support
- ◆ ****Printable & Shareable**** – Use offline, anytime

How to Order:

Visit : <https://www.mathstudy.in>

Browse by Exam, Class, or Topic

Add to Cart & Checkout

Contact & Support:

✉ Email: admin@mathstudy.in

💬 WhatsApp Support Available : +91-+91 92118 65759



💡 Why Wait? Empower your learning journey, save time, and achieve your dreams!

🌐 Explore & Start Learning Today:

<https://www.mathstudy.in> – Premium eBooks for success

<https://www.udgamwelfarefoundation.com> – Free PDFs, practice tests, & guida

**MathStudy.in – Empowering Learners, Enabling Educators, Encouraging Excellence.
Digital Learning | Affordable Excellence | Trusted by Thousands**

CHAPTER TEST: SURFACE AREAS AND VOLUMES
Mathematics | Class IX (2026/SAV/09/NCERT/001)

Section A: Multiple Choice Questions (1 Mark Each)

1. (d) $\frac{32}{3}\pi r^3$
Radius = $2r$. Volume = $\frac{4}{3}\pi(2r)^3 = \frac{4}{3}\pi(8r^3) = \frac{32}{3}\pi r^3$.
2. (b) $\pi r(l + \frac{r}{4})$
TSA = $\pi R(L + R)$. Here $R = \frac{r}{2}$ and $L = 2l$.
TSA = $\pi(\frac{r}{2})(2l + \frac{r}{2}) = \pi r(l + \frac{r}{4})$.
3. (c) **Same**
 $CSA = 2\pi rh$. New $R = 2r$, New $H = \frac{h}{2}$.
New $CSA = 2\pi(2r)(\frac{h}{2}) = 2\pi rh$.
4. (a) 512 cm^3
 $LSA = 4a^2 = 256 \implies a^2 = 64 \implies a = 8 \text{ cm}$.
Volume = $a^3 = 8^3 = 512 \text{ cm}^3$.
5. (a) 1 : 1
Sphere area = $4\pi r^2$. Cylinder height $h = 2r$.
Cylinder CSA = $2\pi rh = 2\pi r(2r) = 4\pi r^2$. Ratio = 1 : 1.

Section B: Short Answer Questions (2 Marks Each)

6. Radius $r = 10 \text{ cm}$.
TSA of hemisphere = $3\pi r^2 = 3 \times 3.14 \times (10)^2 = 3 \times 3.14 \times 100 = 942 \text{ cm}^2$.
7. $r = 2.1 \text{ cm}$, $h = 20 \text{ cm}$. Slant height $l = \sqrt{r^2 + h^2} = \sqrt{4.41 + 400} = \sqrt{404.41} \approx 20.11 \text{ cm}$.
CSA of cob = $\pi rl = \frac{22}{7} \times 2.1 \times 20.11 = 6.6 \times 20.11 = 132.726 \text{ cm}^2$.
Number of grains = $132.726 \times 4 \approx 531$ grains.
8. Volume = $\frac{4}{3}\pi r^3 = 38808$.
 $r^3 = \frac{38808 \times 3 \times 7}{4 \times 22} = 441 \times 21 = 9261 \implies r = 21 \text{ cm}$.
Surface Area = $4\pi r^2 = 4 \times \frac{22}{7} \times 21 \times 21 = 5544 \text{ cm}^2$.
9. Vol. of sphere = Vol. of cone. Sphere radius $R = 1.5 \text{ cm}$.
 $\frac{4}{3}\pi(1.5)^3 = \frac{1}{3}\pi r^2(3) \implies 4 \times 3.375 = 3r^2 \implies 13.5 = 3r^2 \implies r^2 = 4.5$.
 $r = \sqrt{4.5} \approx 2.12 \text{ cm}$.

Section C: Long Answer Questions (4 Marks Each)

10. Inner $r = 100 \text{ cm}$, thickness = 1 cm , Outer $R = 101 \text{ cm}$.
Vol. of iron = $\frac{2}{3}\pi(R^3 - r^3) = \frac{2}{3} \times \frac{22}{7} \times (101^3 - 100^3) = \frac{44}{21} \times (1030301 - 1000000)$.
Vol. = $\frac{44 \times 30301}{21} = 63487.8 \text{ cm}^3$ (or 0.0635 m^3).
11. $CSA = 2\pi rh = 2 \times \frac{22}{7} \times 7 \times 10 = 440 \text{ m}^2$.
Cost = $440 \times 4 = \text{Rs } 1760$.
Volume = $\pi r^2 h = \frac{22}{7} \times 7 \times 7 \times 10 = 1540 \text{ m}^3$.
Capacity in Litres = $1540 \times 1000 = 15,40,000$ Litres.

12. **Case 1 (about 3cm):** $r = 4, h = 3. V_1 = \frac{1}{3}\pi(4^2)(3) = 16\pi.$
Case 2 (about 4cm): $r = 3, h = 4. V_2 = \frac{1}{3}\pi(3^2)(4) = 12\pi.$
Difference = $16\pi - 12\pi = 4\pi = 4 \times 3.14 = \mathbf{12.56 \text{ cm}^3}.$
13. Vol. when full = $15.625 \text{ m}^3 \implies a^3 = 15.625 \implies a = 2.5 \text{ m}.$
Current volume = Base Area \times Depth = $(2.5 \times 2.5) \times 1.3 = 6.25 \times 1.3 = 8.125 \text{ m}^3.$
Volume used = $15.625 - 8.125 = \mathbf{7.5 \text{ m}^3}.$

Section D: NCERT Highlights (1 Mark Each)

- 1 : 3
- $\sqrt{l^2 + b^2 + h^2}$
- 9 (Since area $\propto r^2, 3^2 = 9$)
- 1000

www.udgamwelfarefoundation.com